Research Article



Journal of Nonlinear Science and Applications



Print: ISSN 2008-1898 Online: ISSN 2008-1901

The general solution of a quadratic functional equation and Ulam stability

Yaoyao Lan^{a,b,*}, Yonghong Shen^c

^aCollege of Computer Science, Chongqing University, Chongqing 401331, China. ^bKey Laboratory of Chongqing University of Arts and Sciences, Chongqing 402160, China. ^cSchool of Mathematics and Statistics, Tianshui Normal University, Tianshui 741001, China.

Abstract

In this paper, we investigate the general solution of a new quadratic functional equation. We prove that a function admits, in appropriate conditions, a unique quadratic mapping satisfying the corresponding functional equation. Finally, we discuss the Ulam stability of that functional equation by using the directed method and fixed point method, respectively.

Keywords: functional equation, Ulam stability, quadratic mapping. 2010 MSC: 39A30, 97I70.

1. Introduction and Preliminaries

In 1940, an important talk presented by S. M. Ulam has led to intense work on the stability problem of functional equations [21]. Ulam posed the problem, in short, "Give condition in order for a linear mapping near an approximately linear mapping to exist." In the following year, Hyers gave an partial answer to the problem [6]. Since then, various generalizations of Ulam's problem and Hyers' theorem have been extensively studied and many elegant results have been obtained [1, 18, 14, 19, 13, 15, 9, 11, 2]. The theory of nonlinear analysis has become a fast developing field during the past decades. Functional equations have substantially grown to become an important branch of this field. In [7], the authors deal with a comprehensive illustration of the stability of functional equations, and then, the further research has been presented [3]. Very recently, most classical results on the Hyers-Ulam-Rassias stability have been offered in an integrated and self-contained version in [8]. It is worth noting that among the stability problem of functional equations, the study of the Ulam stability of different types of quadratic functional equations is an important and interesting topic, and it has attracted many scholars [20, 12, 10, 4, 16, 17].

*Corresponding author

Email addresses: yylanmath@163.com (Yaoyao Lan), shenyonghong2008@hotmail.com (Yonghong Shen)

The functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$

is called a *quadratic functional equation*. Every solution of the quadratic functional equation is a *quadratic mapping*. A mapping $B: X \times X \to Y$ is called *biadditive* if

$$B(x_1 + x_2, x_3) = B(x_1, x_3) + B(x_2, x_3)$$

and

$$B(x_1, x_2 + x_3) = B(x_1, x_2) + B(x_1, x_3)$$

for all $x_1, x_2, x_3 \in X$. If $B(x_1, x_2) = B(x_2, x_1)$, then we say that B is symmetric.

Now we recall a fundamental result in fixed point theory.

Theorem 1.1 ([5]). Let (X, d) be a complete generalized metric space and let $J : X \to X$ be a strictly contractive mapping with Lipschitz constant L < 1. Then for each $x \in X$, either

$$d(J^n x, J^{n+1} x) = \infty$$

for all $n \ge 0$ or, there exists an n_0 such that

(i) $d(J^n x, J^{n+1}x) < \infty$ for all $n \ge n_0$. (ii) the sequence $\{J^n x\}$ converges to a fixed point y^* of J; (iii) y^* is the unique fixed point of J in the set $Y = \{y \in X \mid d(J^{n_0}x, y) < \infty\}$; (iv) $d(y, y^*) \le \frac{1}{1-L}d(y, Jy)$ for all $y \in Y$.

In this paper, we introduce a new functional equation:

$$f(x+y-z) + f(x+z-y) + f(y+z-x) = f(x-y) + f(x-z) + f(z-y) + f(x) + f(y) + f(z).$$
(1.1)

The aim of this paper is to discuss the general solution and then establish the Ulam stability of (1.1). More precisely, we discuss the Ulam stability of (1.1) by applying the direct method and the fixed point method, respectively.

Throughout this paper, let X and Y be a real vector space and a Banach space, respectively.

2. General solution of Eq.(1.1)

In this section, we discuss the general solution of (1.1) in a real vector space.

Lemma 2.1. Let $f : X \to Y$ be a mapping. If f satisfies (1.1) for all $x, y, z \in X$, then f is a quadratic mapping.

Proof. Let x = y = z = 0 in (1.1), we obtain f(0) = 0. Plug x = y, z = 0 in (1.1), we get

$$f(2x) = 3f(x) + f(-x)$$
(2.1)

Plug y = 2x, z = x in (1.1), we get

$$f(2x) = 2f(x) + 2f(-x)$$
(2.2)

Subtracting (2.2) from (2.1) gives f(x) = f(-x), which means f is an even mapping. Thus by (2.1), we have f(2x) = 4f(x).

Plug z = 0 in (1.1), since f is even, we have

$$f(x+y) + f(x-y) = 2f(x) + 2f(y).$$

Hence, f is a quadratic mapping.

Theorem 2.2. Let $f : X \to Y$ be a mapping. Then f satisfy (1.1) if and only if there exists a symmetric biadditive mapping $B : X \times X \to Y$ such that, f(x) = B(x, x), for all $x \in X$.

Proof. (\Leftarrow) Assume there exists a symmetric biadditive mapping $B: X \times X \to Y$ such that f(x) = B(x, x) for all $x \in X$. Now we show that B satisfies (1.1). Indeed,

$$\begin{split} B(x+y-z,x+y-z) &= B(x,x+y-z) + B(y,x+y-z) - B(z,x+y-z) \\ &= B(x,x) + B(y,y) + B(z,z) + 2B(x,y) - 2B(y,z) - 2B(x,z), \end{split}$$

$$B(x + z - y, x + z - y) = B(x, x + z - y) + B(z, x + z - y) - B(y, x + z - y)$$

= B(x, x) + B(y, y) + B(z, z) - 2B(x, y) - 2B(y, z) + 2B(x, z),

$$\begin{split} B(y+z-x,y+z-x) &= B(y,y+z-x) + B(z,y+z-x) - B(x,y+z-x) \\ &= B(x,x) + B(y,y) + B(z,z) - 2B(x,y) + 2B(y,z) - 2B(x,z), \end{split}$$

$$B(x - y, x - y) = B(x, x - y) - B(y, x - y)$$

= B(x, x) + B(y, y) - 2B(x, y),

$$B(x - z, x - z) = B(x, x - z) - B(z, x - z)$$

= B(x, x) + B(z, z) - 2B(x, z)

$$B(z - y, z - y) = B(z, z - y) - B(y, z - y)$$

= $B(y, y) + B(z, z) - 2B(y, z),$

Hence,

$$\begin{split} B(x+y-z,x+y-z) + B(x+z-y,x+z-y) + B(y+z-x,y+z-x) = \\ B(x-y,x-y) + B(x-z,x-z) + B(z-y,z-y) + B(x,x) + B(y,y) + B(z,z), \end{split}$$

which implies that B and thus f satisfy (1.1).

 (\Rightarrow) Let

$$f_e(x) = \frac{f(x) + f(-x)}{2}, \ f_o(x) = \frac{f(x) - f(-x)}{2}$$

for all $x \in X$. Then $f(x) = f_e(x) + f_o(x)$. Set $B(x, x) = f_e(x)$. Since f satisfies(1.1), it follows from Lemma 2.1 that f is even and a quadratic mapping. Therefore, we obtain a symmetric biadditive mapping B such that f(x) = B(x, x).

3. Stability of Eq.(1.1) with direct method

In this section, we study the Ulam stability of (1.1) by employing the direct method. Define

$$D_q f(x, y, z) = f(x + y - z) + f(x + z - y) + f(y + z - x) - f(x - y) - f(x - z) - f(z - y) - f(x) - f(y) - f(z)$$
(3.1)

Theorem 3.1. Let $\varphi: X^3 \to [0, +\infty)$ be a function such that

$$\Phi(x, y, z) = \sum_{k=0}^{\infty} 4^k \varphi(2^{-k} x, 2^{-k} y, 2^{-k} z) < \infty$$
(3.2)

for all $x, y, z \in X$. Assume that $f : X \to Y$ is a mapping satisfying

$$\| D_q f(x, y, z) \| \le \varphi(x, y, z) \tag{3.3}$$

for all $x, y, z \in X$. Then, $Q(x) = \lim_{n \to \infty} 4^n f(\frac{x}{2^n})$, exists for each $x \in X$ and defines a unique quadratic

mapping $Q: X \to Y$ such that

$$|f(x) - Q(x)| \le \Phi(\frac{x}{2}, \frac{x}{2}, 0)$$
(3.4)

for all $x \in X$.

Proof. Plug x = y = z = 0 in (3.3). Since $\Phi(0, 0, 0) = \sum_{k=0}^{\infty} 4^k \varphi(0, 0, 0) < \infty$ implies that $\varphi(0, 0, 0) = 0$, we get f(0) = 0, and then, plug x = y, z = 0 in (3.3), it follows that

$$\| f(2x) - 4f(x) \| \le \varphi(x, x, 0)$$
(3.5)

for all $x \in X$. Replacing x by $\frac{x}{2}$ in (3.5), we obtain

$$|f(x) - 4f(\frac{x}{2})| \le \varphi(\frac{x}{2}, \frac{x}{2}, 0)$$
 (3.6)

Replacing x by $\frac{x}{2^{n-1}}$ and multiplying both sides by 4^{n-1} in (3.6), we have

$$\| 4^{n-1} f(\frac{x}{2^{n-1}}) - 4^n f(\frac{x}{2^n}) \| \le 4^{n-1} \varphi(\frac{x}{2^n}, \frac{x}{2^n}, 0)$$
(3.7)

for all $x \in X$ and $n \in \mathbb{N}$. Consequently (3.6) and (3.7) together give

$$\| f(x) - 4^n f(\frac{x}{2^n}) \| \le \sum_{i=0}^{n-1} 4^i \varphi(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, 0)$$
(3.8)

for all $x \in X$ and any positive integer n. Hence, for any $k \in \mathbb{N}$, we have

$$\| 4^{k} f(\frac{x}{2^{k}}) - 4^{k+n} f(\frac{x}{2^{k+n}}) \| = 4^{k} \| f(\frac{x}{2^{k}}) - 4^{n} f(\frac{x}{2^{k+n}}) \|$$

$$\leq 4^{k} \sum_{i=0}^{n-1} 4^{i} \varphi(\frac{x}{2^{k+i+1}}, \frac{x}{2^{k+i+1}}, 0)$$

$$= \frac{1}{4} \sum_{i=0}^{n-1} 4^{k+i+1} \varphi(\frac{x}{2^{k+i+1}}, \frac{x}{2^{k+i+1}}, 0).$$

$$(3.9)$$

By condition (3.2) we obtain $\lim_{k\to\infty} \sum_{i=0}^{n-1} 4^{k+i+1} \varphi(\frac{x}{2^{k+i+1}}, \frac{x}{2^{k+i+1}}, 0) = 0$. Therefore, the sequence $\{4^n f(\frac{x}{2^n})\}$ is a Cauchy sequence in Banach space Y. Thus one can set

$$Q(x) = \lim_{n \to \infty} 4^n f(\frac{x}{2^n})$$

for all $x \in X$.

We want now to prove that Q is a solution of (1.1). Replacing x, y, z by $\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}$, in (3.3), respectively, and, multiplying both sides by 4^n , we get

$$4^{n} \parallel f(\frac{x+y-z}{2^{n}}) + f(\frac{x+z-y}{2^{n}}) + f(\frac{y+z-x}{2^{n}}) - f(\frac{x-y}{2^{n}}) - f(\frac{z-y}{2^{n}}) - f(\frac{z}{2^{n}}) - f(\frac{x}{2^{n}}) - f(\frac{z}{2^{n}}) \parallel \\ \leq 4^{n} \varphi(\frac{x}{2^{n}}, \frac{y}{2^{n}}, \frac{z}{2^{n}}).$$

Since $\lim_{n\to\infty} 4^n \varphi(\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}) = 0$, the function Q satisfies (1.1). From (3.8) we obtain

$$\lim_{n \to \infty} \| f(x) - 4^n f(\frac{x}{2^n}) \| \le \lim_{n \to \infty} \sum_{i=0}^{n-1} 4^i \varphi(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, 0),$$

or equivalently,

$$|| f(x) - Q(x) || \le \Phi(\frac{x}{2}, \frac{x}{2}, 0)$$
 (3.10)

for all $x \in X$. Thus we have obtained (3.4).

To complete the proof, it remains to show the uniqueness of Q. Assume that there exists another one, denoted by $R: X \to Y$ such that $Q(x) \not\equiv R(x)$. Then

$$\| Q(x) - R(x) \| = 4^{n} \| Q(\frac{x}{2^{n}}) - R(\frac{x}{2^{n}}) \|$$

$$\leq 4^{n} (\| Q(\frac{x}{2^{n}}) - f(\frac{x}{2^{n}}) \| + \| f(\frac{x}{2^{n}}) - R(\frac{x}{2^{n}}) \|)$$

$$\leq \frac{1}{8} 4^{n+1} \Phi(\frac{x}{2^{n+1}}, \frac{x}{2^{n+1}}, 0).$$
(3.11)

Since $\lim_{n\to\infty} 4^{n+1}\Phi(\frac{x}{2^{n+1}}, \frac{x}{2^{n+1}}, 0) = 0$, we have $Q(x) \equiv R(x)$ for all $x \in X$.

Corollary 3.2. Let X be a real normed space, and let p > 2, $\theta > 0$. Assume $f : X \to Y$ is a mapping satisfying

$$|| D_q f(x, y, z) || \le \theta(|| x ||^p + || y ||^p + || z ||^p)$$

for all $x, y, z \in X$. Then there exists a unique quadratic mapping $Q: X \to Y$ such that both (1.1) and

$$|| f(x) - Q(x) || \le \frac{\theta}{2^{p-1} - 2} || x ||^p$$

hold for all $x \in X$.

Proof. The proof follows from Theorem 3.1 by taking

$$\varphi(x, y, z) = \theta(\parallel x \parallel^p + \parallel y \parallel^p + \parallel z \parallel^p)$$

for all $x, y, z \in X$.

Theorem 3.3. Let $\Psi: X^3 \to [0, +\infty)$ be a function such that

$$\Psi(x,y,z) = \sum_{k=0}^{\infty} \frac{1}{4^k} \psi(2^k x, 2^k y, 2^k z) < \infty$$
(3.12)

for all $x, y, z \in X$. Assume that $f: X \to Y$ is a mapping with f(0) = 0 and satisfies

$$|| D_q f(x, y, z) || \le \psi(x, y, z)$$
 (3.13)

for all $x, y, z \in X$. Then

$$Q(x) = \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

exists for each $x \in X$ and defines a unique quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{1}{4} \Psi(x, x, 0)$$
(3.14)

for all $x \in X$.

Proof. Plug x = y, z = 0 in (3.13), and, as f(0) = 0, we get

$$|| f(2x) - 4f(x) || \le \psi(x, x, 0)$$

or equivalently,

$$\|\frac{1}{4}f(2x) - f(x)\| \le \frac{1}{4}\psi(x, x, 0)$$
(3.15)

for all $x \in X$.

Replacing x by $2^{n-1}x$ in and multiplying both sides by $\frac{1}{4^{n-1}}$ (3.15), we have

$$\|\frac{1}{4^n}f(2^nx) - \frac{1}{4^{n-1}}f(2^{n-1}x)\| \le \frac{1}{4^n}\psi(2^{n-1}x, 2^{n-1}x, 0)$$
(3.16)

for all $x \in X$ and $n \in \mathbb{N}$. Thus it follows from (3.15) and (3.16) that

$$\| \frac{1}{4^n} f(2^n x) - f(x) \| \leq \sum_{i=1}^n \frac{1}{4^i} \psi(2^{i-1} x, 2^{i-1} x, 0) = \frac{1}{4} \sum_{i=0}^{n-1} \frac{1}{4^i} \psi(2^i x, 2^i x, 0)$$
(3.17)

for all $x \in X$ and any positive integer n.

We now prove the sequence $\{\frac{f(2^n x)}{4^n}\}$ is a Cauchy sequence. For any $k \in \mathbb{N}$, by (3.17), we have

$$\| \frac{1}{4^{n+k}} f(2^{n+k}x) - \frac{1}{4^k} f(2^k x) \| = \frac{1}{4^k} \| \frac{1}{4^n} f(2^{n+k}x) - f(2^k x) \|$$

$$\leq \frac{1}{4^{k+1}} \sum_{i=0}^{n-1} \frac{1}{4^i} \psi(2^{i+k}x, 2^{i+k}x, 0)$$

$$= \frac{1}{4} \sum_{i=0}^{n-1} \frac{1}{4^{i+k}} \psi(2^{i+k}x, 2^{i+k}x, 0).$$
(3.18)

It follows from (3.12) that $\lim_{k\to\infty} \frac{1}{4^k} \psi(2^k x, 2^k y, 2^k z) = 0$, and, the last expression of (3.18) tends to zero as $k \to \infty$. Consequently, the sequence $\{\frac{f(2^n x)}{4^n}\}$ is Cauchy and hence converges, since the completeness of Y. Thus we define

$$Q(x) = \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

for all $x \in X$.

We want now to prove that Q satisfies 1.1. Replacing x, y, z by $2^n x, 2^n y, 2^n z$, in (3.13), respectively, and, dividing both side by 4^n , we get

$$\frac{1}{4^n} \parallel f[2^n(x+y-z)] + f[2^n(x+z-y)] + f[2^n(y+z-x)] - f[2^n(x-y)] - f[2^n(x-z)] - f[2^n(z-y)] - f(2^nx) - f(2^ny) - f(2^nz) \parallel \le \frac{1}{4^n} \psi(2^nx, 2^ny, 2^nz).$$

Since $\lim_{n\to\infty} 4^n \frac{1}{4^n} \psi(2^n x, 2^n y, 2^n z) = 0$, the function Q is a solution of 1.1.

From (3.17) we have

$$\lim_{n \to \infty} \| \frac{1}{4^n} f(2^n x) - f(x) \| \le \lim_{n \to \infty} \frac{1}{4} \sum_{i=0}^{n-1} \frac{1}{4^i} \psi(2^i x, 2^i x, 0),$$

that is,

$$|| Q(x) - f(x) || \le \frac{1}{4} \Psi(x, x, 0)$$

for all $x \in X$. Thus (3.14) holds.

Finally, we need to show that Q is unique. Suppose $Q': X \to Y$ is another different solution of (1.1). Thus

$$\| Q(x) - Q'(x) \| = \frac{1}{4^n} \| Q(2^n x) - Q'(2^n x) \|$$

$$\leq \frac{1}{4^n} (\| Q(2^n x) - f(2^n x) \| + \| f(2^n x) - Q'(2^n x) \|) \leq \frac{1}{2} \frac{1}{4^n} \Psi(2^n x, 2^n x, 0).$$

$$(3.19)$$

Since $\lim_{n\to\infty} \frac{1}{4^n} \Psi(2^n x, 2^n x, 0) = 0$, we have $Q(x) \equiv Q'(x)$ for all $x \in X$.

Corollary 3.4. Let X be a real normed space, and let $0 , <math>\theta > 0$. Assume $f : X \to Y$ is a mapping with f(0) = 0 satisfying

$$|| D_q f(x, y, z) || \le \theta(|| x ||^p + || y ||^p + || z ||^p)$$

for all $x, y, z \in X$. Then there exists a unique quadratic mapping $Q: X \to Y$ such that both (1.1) and

$$|| f(x) - Q(x) || \le \frac{2\theta}{1 - 2^{p-2}} || x ||^p$$

hold for all $x \in X$.

Proof. The proof follows from Theorem 3.3 by taking

$$\varphi(x, y, z) = \theta(\|x\|^p + \|y\|^p + \|z\|^p)$$

for all $x, y, z \in X$.

4. Stability of Eq.(1.1) with fixed point method

Using the fixed point method, the Ulam stability of (1.1) have been investigated in this section.

Theorem 4.1. Let $\varphi: X^3 \to [0, +\infty)$ be a function with Lipschitz constant L < 1 such that

$$\varphi(\frac{x}{2}, \frac{y}{2}, \frac{z}{2}) \le \frac{L}{4}\varphi(x, y, z) \tag{4.1}$$

for all $x, y, z \in X$. Assume that $f : X \to Y$ is a mapping satisfying

$$\| D_q f(x, y, z) \| \le \varphi(x, y, z) \tag{4.2}$$

for all $x, y, z \in X$. Then

$$Q(x) = \lim_{n \to \infty} 4^n f(\frac{x}{2^n})$$

exists for each $x \in X$ and defines a unique quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{L}{4(1-L)} \varphi(x, x, 0)$$
(4.3)

for all $x \in X$.

Proof. Set $S = \{g \mid g : X \to Y, g(0) = 0\}$. Define $d(g_1, g_2) = \inf\{C > 0 \mid || g_1(x) - g_2(x) \mid || \le C\varphi(x, x, 0)\}$ for all $x \in X$, where $\inf \emptyset = +\infty$.

Claim that (S, d) is complete. Suppose $\{g_n\}$ is a Cauchy sequence in (S, d), then for every $\varepsilon > 0$, there exists $N \in \mathbb{N}$ such that for all n, m > N, we have $d(g_n, g_m) < \varepsilon$, thus for each $x \in X$, we get

$$\|g_n(x) - g_m(x)\| \le \varepsilon \varphi(x, x, 0).$$

$$(4.4)$$

Fix $x_0 \in X$, we obtain $\{g_n(x_0)\}$ converges, which means that for each $x \in X$, $\{g_n(x)\}$ converges. Set

$$\lim_{n \to \infty} g_n(x) = g(x)$$

where $g: X \to Y$.

We want now to prove that $\{g_n\}$ converges to g in (S, d). Note that

$$||g_n(x) - g(x)|| = \lim_{m \to \infty} ||g_n(x) - g_m(x)|| \le \varepsilon \varphi(x, x, 0) \quad (n > N)$$

for all $x \in X$. Therefore, $\{g_n\}$ uniformly converges to g and $g \in S$. Hence (S, d) is complete. Consider a linear mapping $T: S \to S$ with

$$Tg(x) = 4g(\frac{x}{2})$$

for all $x \in X$. Let $g_1, g_2 \in S$ such that $d(g_1, g_2) = \varepsilon$. Then

$$\|Tg_1(x) - Tg_2(x)\| = 4 \|g_1(\frac{x}{2}) - g_2(\frac{x}{2})\|$$

$$\leq 4\varepsilon\varphi(\frac{x}{2}, \frac{x}{2}, 0)$$

$$\leq L\varepsilon\varphi(x, x, 0),$$

which implies that $d(Tg_1, Tg_2) \leq L\varepsilon = Ld(g_1, g_2)$. Note that from (3.6) and (4.1), we have

$$\| f(x) - Tf(x) \| = \| f(x) - 4f(\frac{x}{2}) \|$$

$$\leq \varphi(\frac{x}{2}, \frac{x}{2}, 0)$$

$$\leq \frac{L}{4}\varphi(x, x, 0).$$

Therefore, $d(f,Tf) \leq \frac{L}{4}$. By Theorem 1.1, there exists a mapping $Q: X \to Y$ satisfying the following:

- (1) There exists a unique fixed point Q of T, i.e., $Q(x) = 4Q(\frac{x}{2})$.

(2) $d(T^n f, f) \to 0$ as $n \to \infty$. Thus we define $Q(x) = \lim_{n \to \infty} 4^n f(\frac{x}{2^n})$ for all $x \in X$. (3) $d(f,Q) \leq \frac{1}{1-L} d(f,Tf)$. Since $d(f,Tf) \leq \frac{L}{4}$, we get $d(f,Q) \leq \frac{L}{4(1-L)}$ and (4.3) holds.

Finally, we want to prove that Q is a quadratic mapping. Replacing x, y, z by $\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}$ in (4.2), respectively.

$$\| f(\frac{x+y-z}{2^n}) + f(\frac{x+z-y}{2^n}) + f(\frac{y+z-x}{2^n}) - f(\frac{x-y}{2^n}) - f(\frac{x-z}{2^n}) - f(\frac{z-y}{2^n}) - f(\frac{x}{2^n}) - f(\frac{y}{2^n}) - f(\frac{z}{2^n}) \| \le \varphi(\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}).$$

Then

$$4^n \parallel f(\frac{x+y-z}{2^n}) + f(\frac{x+z-y}{2^n}) + f(\frac{y+z-x}{2^n}) - f(\frac{x-y}{2^n}) - f(\frac{x-z}{2^n}) - f(\frac{z-y}{2^n}) - f(\frac{x}{2^n}) - f(\frac{y}{2^n}) - f(\frac{z}{2^n}) \parallel \\
 \leq 4^n \varphi(\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}).$$

Since $\lim_{n\to\infty} 4^n \varphi(\frac{x}{2^n}, \frac{y}{2^n}, \frac{z}{2^n}) = 0$, the function Q satisfies (1.1) and hence is quadratic. This completes the proof.

Theorem 4.2. Let $\varphi: X^3 \to [0, +\infty)$ be a function with Lipschitz constant L < 1 such that

$$\psi(x,y,z) \le 4L\psi(\frac{x}{2},\frac{y}{2},\frac{z}{2})$$

for all $x, y, z \in X$. Assume that $f : X \to Y$ is a mapping satisfying

$$\parallel D_q f(x, y, z) \parallel \leq \psi(x, y, z)$$

for all $x, y, z \in X$. Then

$$Q(x) = \lim_{n \to \infty} \frac{f(2^n x)}{4^n}$$

exists for each $x \in X$ and defines a unique quadratic mapping $Q: X \to Y$ such that

$$|| f(x) - Q(x) || \le \frac{L}{4(1-L)}\psi(x,x,0)$$

for all $x \in X$.

Proof. Define

$$S = \{g \mid g : X \to Y, g(0) = 0\},\$$

and introduce

$$d(g_1, g_2) = \inf\{C > 0 \mid || g_1(x) - g_2(x) \mid |\leq C\psi(x, x, 0)\}$$

for all $x \in X$, where $\inf \emptyset = +\infty$.

Consider a linear mapping $T: S \to S$ with

$$Tg(x) = \frac{1}{4}g(2x)$$

for all $x \in X$.

The rest of proof is similar to the proof of Theorem 4.1.

Acknowledgements:

This work was partially supported by the National Natural Science Foundation of China (NO. 11226268), Scientific and Technological Research Program of Chongqing Municipal Education Commission(NO. KJ131219), Postdoctoral Science Foundation of Chongqing (NO. Xm201328, 2014BS105), and Program for Innovation Team Building at Institutions of Higher Education in Chongqing (NO. KJTD201321).

References

- [1] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64–66.1
- [2] D. Barbu, C. Buse, A. Tabassum, Hyers-Ulam stability and discrete dichotomy, J. Math. Anal. Appl., 423 (2015), 1738–1752.1
- [3] S. Czerwik, Functional Equations and Inequalities in Several Variables, World Scientific, Singapore, (2002).1
- [4] K. Cieplinski, On the generalized Hyers-Ulam stability of multi-quadratic mappings, Comput. Math. Appl., 62 (2011), 3418–3426.1
- [5] J. B. Diaz, B. Margolis, A fixed point theorem of the alternative for contractions on a generalized complete metric space, Bull. Amer. Math. Soc., 74 (1968), 305–309.1.1
- [6] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. USA, 27 (1941), 222–224.1
 [7] D. H. Hyers, G. Isac, T. M. Rassias, Stability of Functional Equations in Several Variables, Birkhäuser, Boston, (1998).1
- [8] S. M. Jung, Hyers-Ulam-Rassias Stability of Functional Equations in Nonlinear Analysis, Springer, New York, (2011).1
- S. M. Jung, On the Hyers-Ulam-Rassias stability of a quadratic functional equation, J. Math. Anal. Appl., 232 (1999), 384–393.1
- [10] S. M. Jung, On the Hyers-Ulam stability of the functional equations that have the quadratic property, J. Math. Anal. Appl., 222 (1998), 126–137.1
- [11] H. A. Kenary, H. Rezaei, Y. Gheisari, C. Park, On the stability of set-valued functional equations with the fixed point alternative, Fixed Point Theory Appl., 2012 (2012), 17 pages.1
- [12] Y. W. Lee, On the stability of a quadratic Jensen type functional equation, J. Math. Anal. Appl., 270 (2002), 590–601.1
- [13] A. K. Mirmostafaee, M. S. Moslehian, Fuzzy versions of Hyers-Ulam-Rassias theorem, Fuzzy Set. Sys., 159 (2008), 720–729.1
- [14] M. S. Moslehian, T. M. Rassias, Stability of functional equations in non-Archimedean spaces, Appl. Anal. Discrete Math., 1 (2007), 325–334.1
- [15] K. Nikodem, D. Popa, On single-valuedness of set-valued maps satisfying linear inclusions, Banach J. Math. Anal., 3 (2009), 44–51.1
- [16] C. G. Park, On the Hyers-Ulam-Rassias stability of generalized quadratic mappings in Banach modules, J. Math. Anal. Appl., 291 (2004), 214–223.1
- [17] C. Park, H. A. Kenary, T. M. Rassias, Hyers-Ulam-Rassias stability of the additive-quadratic mappings in non-Archimedean Banach spaces, J. Inequal. Appl., 2012 (2012), 18 pages. 1
- [18] T. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297–300.1

- [19] V. Radu, The fixed point alternative and the stability of functional equations, Fixed Point Theory, 4 (2003), 91–96. 1
- [20] H. Y. Shen, Y. Y. Lan, On the general solution of a quadratic functional equation and its Ulam stability in various abstract spaces, J. Nonlinear Sci. Appl., 7 (2014), 368–378.1
- [21] S. M. Ulam, Problems in Modern Mathematics, Wiley, New York, (1964).1